Monthly averaged wind velocity by MF radar at Tromsoe for February 2010
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Monthly averaged wind velocity by MF radar at Tromsoe for February 2010

North

mean sigma = 22.994

o
o

50 E
50 E
-100E ]
0 4 8 12 16 20 0
mean sigma = 16.611
100F E|
50~ E
-100E 3
0 4 8 12 16 20 0

a o
o O

o

o &
ISIR=)

© FrrprET

mean sigma = 10.561

a o
o O

o

o &
ISIR=)

© [rrprrrI T

o
o

50 E
O -----m - e WY SEE TR
-50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 13.173
100 F E|
50 -
o W/\m«m»w,ﬁé
E / B
-50 -
-100E E|
0 4 8 12 16 20 0

o
o
© [

o
o
© g

(=]
o o
© [FrrprTpTT

o
o o
© [rrprrRTT

East

mean sigma = 18.970

& o o
S o & &
T

mean sigma = 17.630

o

a o
o O

&
S o

o

a o
o O

5
S

a o
o O

&
S

o
o

50
= .
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 12.621
100 F E|
50 -
50 E
-100E 3
0 4 8 12 16 20 0

79km

76km

73km

70km

67km

64km



